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QUESTION 1

You are building a transaction model to identify invoices with USD amounts that are greater than the supplier\\'s
average invoice amount. The order of the filters is important.

1.

Add an "Average" Function filter grouping by "Supplier ID" where "Invoice Amount" is greater than O.
2.

Add a standard filter where "Invoice Currency" equals "USD."

3.

Add a standard filter where the delivered "Average Value" attribute is less than "Invoice Amount.”
What is the correct order of the filters for this transaction model?

A 1,32

B.1,2,3

C.2,31

D.3,2,1

E.2, 1,3

Correct Answer: B

QUESTION 2

What would happen to an access incident in Advanced Access Controls (AAC) that has been remediated and has a
status of "Closed," but poses a conflict again during a subsequent evaluation of controls?

A. The incident is deferred.
B. The incident remains in "Closed" status and additional remedial action cannot be taken.

C. The incident remains in "Closed" status and assigned users receive a notification that additional access incidents
have been identified.

D. The incident is copied and a new incident is created based on the original incident.
E. The incident status changes to "Assigned."”

Correct Answer: CE
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QUESTION 3

You want to identify Controls with the most Incidents, with the condition that the identified Controls should have 80% of
all Incidents. To do this, you have imported a custom object that contains the number of incidents associated with each

control, and have added that object to a transaction model.
Which pattern filter must you now apply?

A. Anomaly Detection

B. Mean

C. Pareto

D. Absolute Deviation

E. Clustering

Correct Answer: C

QUESTION 4

Which three objects can be related to issues when creating an issue on the Manage Issues page? (Choose three.)
A. Test Plans

B. Assessments

C. Processes

D. Perspectives

E. Risks

F. Controls

Correct Answer:. CEF

QUESTION 5

Which controls can user A manage for the following Control Manager role Configuration? See details of perspective
trees and control-perspective association below.
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Seeded Control
WManager
Cemposite Duty
ABC Control Rale
User: A 3 Manager Job  L¢
Role ‘ ABC Control = - -
L Manager Data | Ssesia OSP Oata Amrit .:l Data Rote | vl EQuats H Control Managel DataSecunty Po.. 2 Inchoe
Security Policy

Filter Name: Dhbject Anribute Condition Vialue Include or Exclude

Parspactive Filt ﬂﬂfﬂ'erlmtl Region x| | Includgs Ghildre | =| Mot Amarica. £ Inciude

| Control — Perspective Association
| Perspective Trees - Hierarchy |

Region Biiic=s Prooe=s :"m""a"f Region Compliance | Business
i (Security) BFrameworks ] Process
50X p2p

North America, North America
Control 1 >USA
EM EA > Canada
Control 2 North America 02C SOX
Control 3 EMEA 0z2C SOX EMEA omMB ozc
Control 4 LSA 02c OMB

A. All controls

B. Controls 2 and 4

C. Controls 1, 2, and 4
D. None

E. Controls 1 and 2

Correct Answer: E
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